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DIVIDING O BY A NUMBER

Hint: It's always 0 when )
Hint: It's always 0 when

you divide zero - Hint: It's always 0 when
you divide zero

you divide zero

DIVIDING O BY A NUMBER DlVIDlNG O BY A NUMBER
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DIVIDING A NUMBER BY 1

Hint: It's always the number
when you divide by 1
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12+1=12

Hint: It's always the number

DlVIDlNG A NUMBER BY J

when you divide by 1
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DIVIDING A NUMBER BY 1

Hint: It's always the number
when you divide by 1
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DIVIDING A NUMBER BY 2

Hint: Half it!
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Hint: Half it!

DlVlDlNG A NUMBER BY J DIVIDING A NUMBER BY 2

DW=

Hint: Half it!
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3=9
- 30 -3=10
33 + 33=-=3=11
36+3=12 36:-3=12
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Hint: Think Multiplication! ! ! S
Ix?= Hint: Think Multiplication! Hint: Think Multiplication!
— Ix?7=_ Ix?=_

DIVIDING A NUMBER BY 3 DlVlDING A NUMBER BY J DIVIDING A NUMBER BY 3
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4:-4=1
8:4=2
12:-4=3
16=-4=4
20+4=5
24 -4=0
28 -4=7
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36:4=9
40 :-4=10
44 -4=1
2 48 - 4=12
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DIVIDING A NUMBER BY 4

Hint: Think Multiplication!
Ix?=_

e
Hint: T"'Z"x'l“'_t'p"""t“’"' Hint: Think Multiplication!
- Ix?=_
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5+5=1 5+5=1 5:5=1
10+-5=2 10+-5=2 10:5=2
15+-5=3 15+5=3 19:9=3
20-5=4 20 +-5=4 20~-5=4
25+-5=58 25+5=5 29=9=9
30-5=6 30+-5=6 30=-5=0
35+-5=17 35+5=7 35=-5=7
40 -5=8 40+-5=8 40-5=8
45 +-5=9 45 +5=9 45-5=9
50 +5=10 50+5=10 50:5=10
55 +-5=11 55+5=11 55 -5 =11
60 ~3 =12 60+5=12 C0-5=12

DIVIDING A NUMBER BY 5

DIVIDING A NUMBER BY 5
DlVIDlNG A NUMBER BY J

- A
Hint: Think Hultiplication! Hint: Think Multiplication!
Sx?=_ 5y 7=

Hint: Think Multiplication!
oX?=_
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6

6+6=1
12+-6=2
18+-6=3
24 +-6=4
30+-6=5

DIVIDING A NUMBER BY 6
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6=6=1

12-6=2
18+-6=3
24=-6=4
30 -6=5
36:-6=6
42 -6=7
48 -6 =8
°94=-6=9
60-6=10
G6t-6=11
72-6=12

DIVIDING A NUMBER BY 6

Hint: Think Multiplication!
Ex?=_

DIVIDING A NUMBER BY J

N —
Hint: Thl:kxl!,ul_tlpllcatmn_ { Hint: Think Multiplication!
- Ex?=_
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Division

7+7=1 7+7=1

14 -7=2 14+7=2 14-7=2
21+7=3 21 +7=3 21:7=3
28 -7 =4 28 +~7=4 28 -7=4
35 ~7=5 35+7=5 35 -7=5
42 ~71=06 42 +7=6 42 -7 =€
49 -T7=1T 49 +-7=17 49 -7 =7
56 ~7=28 b6 ~7=8 56=-7=8
63+7=9 63+7=9 €3:-7=9
70+-7=10 70+-7=10 70 =7 =10
77+-7=11 77 +7=11 77 -7=11
84 +7=12 84 +-7=12 84-7=12

DIVIDING A NUMBER BY 7

Hint: Think Multiplication!
7x?=_

T——
Hint: Think Hultiplication! Hint: Think Multiplication!
7x?=_ 747 =

DIVIDING A NUMBER BY 7 DlVlDING A NUMBER BY J
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Division

8§-8=1 8+8=1
16 -8=2 16 +-8=2
24 ~8=213 24 +-8=3
32 -8=4 32+-8=4
40+-8=5 40 +-8=5
48 -8 =6 48 -8 =6
56 = 8=17 b6 -8 =7
64 +-8=8 64+-8=8
72 -8=9 72 +-8=9
80+-8=10 80+=8=10
88 +-8=11 88 +8=11
06 -8=12 96 - 8=12

DIVIDING A NUMBER BY 8

Hint: Think Multiplication!
8x?7=_

T Ta——"
Hint: Th";kx“,“'_t"’"""t'°“' Hint: Think Multiplication!
- 8x?=_
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9-8=1 9+8=1

18 -8 =2 18 +8=2

27 - 8=3 27 +8=3

36 -8 =14 36+8=4

45-8=5 45 +8=5

54 ~8=6 54 +-8=6

63 ~8=17 63+8=7

72 - 8=8 72+8=8

81 ~8=9 81+8=9

90 -8 =10 90+-8=10

99 ~8=11 99+-8=11 :
108 = 8 =12 108 +8=12 108 - 8 =12

DIVIDING A NUMBER BY 9

Hint: Think Multiplication!
9x?=_

T T——
Hint: Think Hultiplication! Hint: Think Multiplication!
9x?=_ 9x?=

DIVIDING A NUMBER BY 9 DlVIDlNG A NUMBER BY J
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10-10=1 10+10=1 10:-10=1
20+ 10=2 20+10=2 20:-10=2
30+-10=3 30+10=3 30-10=3
40+-10=4 40+ 10=4 40 - 10 = 4
50+ 10=5 50+ 10=5 50:-10=5
60+10=6 60+-10=6 C0-10=C
70+-10=17 70=10=7 70-10 =7
80 ~10=8 80+10=8 80-10=8
900+10=9 90+10=9 90-10=9
100+ 10 =10 }?g+}8=}? 100 = 10 = 10
110+ 10=11 +~10= 110 -10 = 11
120-10=12 120+ 10=12 120 - 10 = 12

DIVIDING A NUMBER BY 10 DlVIDlNG A NUMBER BY 10 DIVIDING A NUMBER BY 10

—
Hint: Think Hultiplication! Hint: Think Multiplication! Hint: Think Multiplication!
0x7=_
10x7=_ 0x7=




101 )
Division DIVISION
11+11=1 1M+11=1 M1=-11=1
22+11=2 22+11=2 29 . 11=2
33+11=3 33+11=3 33:-11=3
44 =11 =4 44 +-11=4 44 -1 =4
535+11=25 55+ 11=5 55+11=5
66 ~11=6 66+11=6 eE-11=6
11+11=1 77 +11=7 77 -11=7
88+11=8 88+11=8 88-11=8
99+11=9 99+11=9 99 -11=9
110+ 11=10 110+11=10 110 - 11=10
12111=11 J 121 =11 =11 | EEPYEETIgy
132+11=12 J| 132 11=12| ERTTIRTPRT:

T T
Hint: Think Multiplication! Hint: Think Multiplication! Hint: Think Multiplication!
Nx2=_
Nx?=_ Nx?=
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12 |12 R

pivision | ILIVIE o] H DIVISION
12+12=1 12+12=1 12 =12 = 1

24 12 =2 24 +12=2 24:12=2
36+12=3 36+12=3 36:12=3
48 - 12 =4 48 +12=4 48 - 12 = 4
60+-12=35 60+12=5 €0:12=5
72+12=6 72+12=6 72:-12=¢
84+12=1 84 +12=7 84-12=7
96 - 12=38 96 +12=8 9¢-12=8
108+12=9 108 +12=9 108-12=9
120+ 12=10 120+12=10 120 - 12 =10
132 +-12=11 132+12=11 132-12=1
144 - 12 =12 144 - 12=12 144 - 12 = 12
DIVIDING A NUMBER BY 12

P A
Hint: Think Hultiplication! Hint: Think Multiplication!
2x?=_ 1257 =

DIVIDING A NUMBER BY 12

Hint: Think Multiplication!
2x?=_






